

**BID2023-29 RE-CONSTRUCTION OF VARIOUS STREETS IN THE CITY OF TRENTON -
DEPARTMENT OF PUBLIC WORKS - DIVISION OF ENGINEERING AND TRANSPORTATION BID
OPENING DATE- MAY 5, 2023 AT 11:00AM**

BID2023-29 RE-CONSTRUCTION OF VARIOUS STREETS IN THE CITY OF TRENTON FOR THE DEPARTMENT OF PUBLIC WORKS - DIVISION OF ENGINEERING AND TRANSPORTATION OPENING DATE MAY 5, 2023 AT 11:00AM		BID-	
NUMBER OF RESPONDENTS:		2	
NAME OF BIDDER		EARLE ASPHALT COMPANY	BLACKROCK ENTERPRISES
ADDRESS		P.O. BOX 556	1316 ENGLISHTOWN ROAD
CITY, STATE, ZIP		FARMINGDALE, NJ 07727	OLD BRIDGE, NJ 08857
CONTACT NAME		BILL MEAD/BRIAN M. COOPER, PE	JACQUELINE VALE, MANAGING MEMBER
TELEPHONE		732-308-1113	732-967-6400
FAX		732-308-1034	732-967-6402
E-MAIL		bmead@earleco.com/ bcooper@earleco.com	info@blackrocknj.com
BID GUARANTEE		10% FEDERAL INSURANCE COMPANY W.P.O.A AMANDA PIERINA D'ANGELO	10% TRAVELER CASUALTY AND SURETY COMPANY OF COMPANY OF AMERICA WPOA LISA NOSAL
CONSENT OF SURETY		FEDERAL INSURANCE COMPANY	COMPANY OF COMPANY OF AMERICA
PERFORMANCE BOND		REQUIRED WITH SIGNED CONTRACTS	REQUIRED WITH SIGNED CONTRACTS
INTENT TO USE A SUB-CONTRACTOR		YES- SEE ATTACHED	YES- SEE ATTACHED
CONTRACTOR'S PWC REGISTRATION		CERT#18315 EXP. 5/5/2025	CERT.#067926 EXP. 2/08/2025
CONTRACTOR'S EIC		N/A	CERT.#46690 EXP. 5/15/2024
SUB-CONTRACTOR'S BRC, PWC AND LICENSE		INCLUDED	INCLUDED
STATEMENT OF OWNERSHIP DISCLOSURE		INCLUDED	INCLUDED
REQUIRED EVIDENCE EEO/AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE		INCLUDED	INCLUDED
EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A		INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA		INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE		INCLUDED	INCLUDED
NON-COLLUSION AFFADAVIT		INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE		INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE		INCLUDED	INCLUDED
PROHIBITED RUSSIA-BELARUS ACTIVITIES & IRAN INVESTMENT ACTIVITIES		INCLUDED	INCLUDED
EQUIPMENT CERTIFICATION		INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT		INCLUDED	INCLUDED
DEBARMENT FEDERAL GOVERNMENT CONTRACT		INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE		REQUIRED WITH SIGNED CONTRACTS	REQUIRED WITH SIGNED CONTRACTS
REFERENCES		INCLUDED	INCLUDED
W-9		INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE		YES	YES
TOTAL PRICE		\$2,852,713.13 SEE ATTACHED BREAK- DOWN OF PRICING	\$3,168,861.55 - SEE ATTACHED BREAK-DOWN
EXCEPTIONS (IF ANY)		NONE	NONE
FATAL FLAW		NONE	NONE

Earle Asphalt Company

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

BASE BID

<u>ITEM #</u>	<u>BRIEF DESCRIPTION OF ITEM & PRICE IN WORDS AND FIGURES</u>	<u>TOTAL PRICE</u>
1	Mobilization Lump Sum @ \$ 224,644.97 Two hundred twenty four thousand six hundred forty four (Write out unit price) dollars & ninety seven cents	\$224,644.97
2	Clearing Site Lump Sum @ \$ 119,900.00 One hundred nineteen thousand nine hundred dollars & (Write out unit price) zero cents	\$119,900.00
3	Project Video Lump Sum @ \$ 2,500.00 Two thousand five hundred dollars & zero cents (Write out unit price)	\$2,500.00
4	Uniform Traffic Director 75 HOURS @ \$ 0.01 per HOUR Zero dollars & one cent (Write out unit price)	\$0.75
5	Certified Traffic Flagger 350 HOURS @ \$ 80.00 per HOUR Eighty dollars & zero cents (Write out unit price)	\$28,000.00
6	Traffic Control, Complete – Franklin Street 1 Lump Sum @ \$ 7,500.00 Seven thousand five hundred dollars & zero cents (Write out unit price)	\$7,500.00
7	Traffic Control, Complete – Washington Street 1 Lump Sum @ \$ 7,500.00 Seven thousand five hundred dollars & zero cents (Write out unit price)	\$7,500.00
8	Traffic Control, Complete – Second Street 1 Lump Sum @ \$ 2,500.00 Two thousand five hundred dollars & zero cents (Write out unit price)	\$2,500.00

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

9	Traffic Control, Complete –Culbertson Street 1 Lump Sum @ \$ 7,500.00 <u>Seven thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$7,500.00</u>
10	Traffic Control, Complete – Gladstone Avenue 1 Lump Sum @ \$ 2,500.00 <u>Two thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$2,500.00</u>
11	Traffic Control, Complete –Vine Street 1 Lump Sum @ \$ 2,500.00 <u>Two thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$2,500.00</u>
12	Traffic Control, Complete – Pine Street 1 Lump Sum @ \$ 2,500.00 <u>Two thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$2,500.00</u>
13	Traffic Control, Complete – North Hermitage Avenue 1 Lump Sum @ \$ 7,500.00 <u>Seven thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$7,500.00</u>
14	Traffic Control, Complete – Bellevue Avenue 1 Lump Sum @ \$ 7,500.00 <u>Seven thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$7,500.00</u>
15	Traffic Control, Complete – Frazier Street 1 Lump Sum @ \$ 7,500.00 <u>Seven thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$7,500.00</u>
16	Traffic Control, Complete – Spring Street 1 Lump Sum @ \$ 7,500.00 <u>Seven thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$7,500.00</u>
17	Traffic Control, Complete – Montgomery Place 1 Lump Sum @ \$ 2,500.00 <u>Two thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$2,500.00</u>
18	Tree Removal, Over 18" to 24" Diameter 5 UNITS @ \$ 1,500.00 per UNIT <u>One thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$7,500.00</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

19	Tree Removal, Over 24" to 30" Diameter 5 UNITS @ \$ 3,000.00 per UNIT <u>Three thousand dollars & zero cents</u> (Write out unit price)	<u>\$15,000.00</u>
20	Tree Removal, Over 30" to 36" Diameter 5 UNITS @ \$ 3,500.00 per UNIT <u>Three thousand five hundred dollars & zero cents</u> (Write out unit price)	<u>\$17,500.00</u>
21	Inlet Filter, Type 2 89 UNITS @ \$ 25.00 per UNIT <u>Twenty five dollars & zero cents</u> (Write out unit price)	<u>\$2,225.00</u>
22	Excavation, Test Hole, If & Where Directed 200 CY @ \$ 0.01 per CY <u>Zero dollars & one cent</u> (Write out unit price)	<u>\$2.00</u>
23	Reset Manhole Casting, If & Where Directed 40 UNITS @ \$ 25.00 per UNIT <u>Twenty five dollars & zero cents</u> (Write out unit price)	<u>\$1,000.00</u>
24	Inlet Repair, If & Where Directed 40 UNITS @ \$ 900.00 per UNIT <u>Nine hundred dollars & zero cents</u> (Write out unit price)	<u>\$36,000.00</u>
25	Inlet Concrete Modification 15 UNITS @ \$ 750.00 per UNIT <u>Seven hundred fifty dollars & zero cents</u> (Write out unit price)	<u>\$11,250.00</u>
26	Bicycle Safe Frame and Grate, Type A 4 UNITS @ \$ 750.00 per UNIT <u>Seven hundred fifty dollars & zero cents</u> (Write out unit price)	<u>\$3,000.00</u>
27	Bicycle Safe Frame and Grate, Type B 62 UNITS @ \$ 750.00 per UNIT <u>Seven hundred fifty dollars & zero cents</u> (Write out unit price)	<u>\$46,500.00</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

28	Bicycle Safe Frame and Grate, Type E <u>5 UNITS @ \$ 1,400.00 per UNIT</u> <u>One thousand four hundred dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$7,000.00</u>
29	Precast Inlet, Type B, If & Where Directed <u>3 UNITS @ \$ 3,500.00 per UNIT</u> <u>Three thousand five hundred dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$10,500.00</u>
30	4" Type 'N' Eco Curb Piece <u>2 UNITS @ \$ 545.00 per UNIT</u> <u>Five hundred forty five dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$1,090.00</u>
31	6" Type 'N' Eco Curb Piece <u>9 UNITS @ \$ 545.00 per UNIT</u> <u>Five hundred forty five dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$4,905.00</u>
32	8" Type 'N' Eco Curb Piece <u>38 UNITS @ \$ 545.00 per UNIT</u> <u>Five hundred forty five dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$20,710.00</u>
33	10" Type 'N' Eco Curb Piece <u>27 UNITS @ \$ 545.00 per UNIT</u> <u>Five hundred forty five dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$14,715.00</u>
34	Aluminum Rail <u>40 LF @ \$ 100.00 per LF</u> <u>One hundred dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$4,000.00</u>
35	15" HDPE Storm Pipe, If & Where Directed <u>100 LF @ \$ 80.00 per LF</u> <u>Eighty dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$8,000.00</u>
36	Concrete Sidewalk, 4" Thick <u>3,446 SY @ \$ 75.00 per SY</u> <u>Seventy five dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$258,450.00</u>
37	Reinforced Concrete Sidewalk, 6" Thick <u>310 SY @ \$ 110.00 per SY</u> <u>One hundred ten dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$34,100.00</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

38	Detectable Warning Surface 172 SY @ \$ 400.00 per SY Four hundred dollars & zero cents (Write out unit price)	<u>\$68,800.00</u>
39	Brick Paver Curb 200 LF @ \$ 50.00 per LF Fifty dollars & zero cents (Write out unit price)	<u>\$10,000.00</u>
40	Concrete Gutter 250 LF @ \$ 25.00 per LF Twenty five dollars & zero cents (Write out unit price)	<u>\$6,250.00</u>
41	Steel Curb Plate, 10', If & Where Directed 10 UNITS @ \$ 750.00 per UNIT Seven hundred fifty dollars & zero cents (Write out unit price)	<u>\$7,500.00</u>
42	6"x8"x18" Concrete Vertical Curb 7,566 LF @ \$ 36.00 per LF Thirty six dollars & zero cents (Write out unit price)	<u>\$272,376.00</u>
43	HMA Milling, 3" or Less 59,889 SY @ \$ 5.88 per SY Five dollars & eighty eight cents (Write out unit price)	<u>\$352,147.32</u>
44	HMA Milling, More Than 3" to 6" 5,370 SY @ \$ 6.33 per SY Six dollars & thirty three cents (Write out unit price)	<u>\$33,992.10</u>
45	Hot Mix Asphalt 9.5M64 Surface Course, 2" Thick 7,518 TON @ \$ 105.00 per TON One hundred five dollars & zero cents (Write out unit price)	<u>\$789,390.00</u>
46	Hot Mix Asphalt 9.5M64 Leveling Course, Variable Thickness 892 TON @ \$ 0.01 per TON Zero dollars & one cent (Write out unit price)	<u>\$8.92</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

47	Hot Mix Asphalt 19M64 Base Course, 4" Thick 1,515 TON @ \$ 65.00 per TON Sixty five dollars & zero cents (Write out unit price)	\$98,475.00
48	Tack Coat 6,537 GAL @ \$ 0.01 per GAL Zero dollars & one cent (Write out unit price)	\$65.37
49	HMA Pavement Repair 10,490 SY @ \$ 13.50 per SY Thirteen dollars & fifty cents (Write out unit price)	\$141,615.00
50	Dense Graded Aggregate, If & Where Directed 100 CY @ \$ 5.00 per CY Five dollars & zero cents (Write out unit price)	\$500.00
51	1 1/2" Clean Stone, If & Where Directed 100 CY @ \$ 10.00 per CY Ten dollars & zero cents (Write out unit price)	\$1,000.00
52	Select Fill, If & Where Directed 100 CY @ \$ 5.00 per CY Five dollars & zero cents (Write out unit price)	\$500.00
53	Regulatory Sign, R1-1 'Stop', 30"x30" 26 UNITS @ \$ 300.00 per UNIT Three hundred dollars & zero cents (Write out unit price)	\$7,800.00
54	Regulatory Sign, R1-5 'Yield', 36"x36" 1 UNIT @ \$ 432.00 per UNIT Four hundred thirty two dollars & zero cents (Write out unit price)	\$432.00
55	Regulatory Sign, R5-1 'Do Not Enter', 30"x30" 3 UNITS @ \$ 300.00 per UNIT Three hundred dollars & zero cents (Write out unit price)	\$900.00
56	Regulatory Sign, R6-1 'One Way', 36"x12" 3 UNITS @ \$ 144.00 per UNIT One hundred forty four dollars & zero cents (Write out unit price)	\$432.00

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

57	Regulatory Sign, R7-5 '15 Minute Parking', 24"x30" <u>2 UNITS @ \$ 240.00 per UNIT</u> <u>Two hundred forty dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$480.00</u>
58	Warning Sign, W11-2 'Pedestrian Crossing', 36"x36" <u>1 UNIT @ \$ 432.00 per UNIT</u> <u>Four hundred thirty two dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$432.00</u>
59	Street Sign <u>14 UNITS @ \$ 150.00 per UNIT</u> <u>One hundred fifty dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$2,100.00</u>
60	Traffic Marking, 24" Wide White <u>1,550 LF @ \$ 5.40 per LF</u> <u>Five dollars & forty cents</u> <u>(Write out unit price)</u>	<u>\$8,370.00</u>
61	Traffic Marking, 8" Wide White <u>6,400 LF @ \$ 1.80 per LF</u> <u>One dollar & eighty cents</u> <u>(Write out unit price)</u>	<u>\$11,520.00</u>
62	Traffic Marking, 4" Wide Yellow <u>1,760 LF @ \$ 0.90 per LF</u> <u>Zero dollars & ninety cents</u> <u>(Write out unit price)</u>	<u>\$1,584.00</u>
63	Traffic Marking, White 'Yield' <u>21 UNITS @ \$ 43.25 per UNIT</u> <u>Forty three dollars & twenty five cents</u> <u>(Write out unit price)</u>	<u>\$908.25</u>
64	Traffic Marking, Turn Arrow <u>2 UNITS @ \$ 210.00 per UNIT</u> <u>Two hundred ten dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$420.00</u>
65	Traffic Marking, 'ONLY' <u>2 UNITS @ \$ 240.00 per UNIT</u> <u>Two hundred forty dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$480.00</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

66	Fertilizing and Seeding, Type A-3 <u>1,745 SY @ \$0.01 per SY</u> <u>Zero dollars & one cent</u> <u>(Write out unit price)</u>	<u>\$17.45</u>
67	Topsoiling, 5" Thick <u>1,745 SY @ \$ 5.00 per SY</u> <u>Five dollars & zero cents</u> <u>(Write out unit price)</u>	<u>\$8,725.00</u>
68	Fuel Price Adjustment <u>Lump Sum @ \$12,000.00</u> <u>Twelve Thousand Dollars and Zero Cents</u> <u>(Write out unit price)</u>	<u>\$12,000.00</u>
69	Asphalt Price Adjustment <u>Lump Sum @ \$20,000.00</u> <u>Twenty Thousand Dollars and Zero Cents</u> <u>(Write out unit price)</u>	<u>\$20,000.00</u>
70	Allowance <u>Lump Sum @ \$50,000.00</u> <u>Fifty Thousand Dollars and Zero Cents</u> <u>(Write out unit price)</u>	<u>\$50,000.00</u>

TOTAL AMOUNT BID \$ 2,852,713.13

FY2022 ROADWAY IMPROVEMENTS PROJECT

Item Nos. 1 through 70:

Two million eight hundred fifty two thousand
seven hundred thirteen

Dollars and thirteen Cents

**NOTICE OF INTENT TO SUBCONTRACT FORM
(MANDATORY)**

This notice of intent must be completed and included as part of each bidder's proposal. Failure to submit this form will be cause for rejection of the bid as non-responsive.

Please check one of the below-listed boxes:

If awarded this contract, I will engage subcontractors to provide certain goods and/or services.

ALL BIDDERS THAT INTEND TO ENGAGE SUBCONTRACTORS MUST ALSO SUBMIT A COMPLETED AND CERTIFIED SUBCONTRACTOR UTILIZATION PLAN WITH THEIR BID PROPOSALS. BIDDERS SHOULD ALSO SUBMIT A NEW JERSEY BUSINESS REGISTRATION CERTIFICATE FOR EACH SUBCONTRACTOR AS WELL AS ANY LICENSES HELD BY SUBCONTRACTORS WITH THEIR BID PROPOSAL.

If awarded this contract, I do not intend to engage subcontractors to provide any goods and/or services.

ALL BIDDERS THAT DO NOT INTEND TO ENGAGE SUBCONTRACTORS MUST ATTEST TO THE FOLLOWING CERTIFICATION:

I hereby certify that if the award is granted to my firm and if I determine at any time during the course of the contract to engage subcontractors to provide certain goods and/or services, I will submit the Subcontractor Utilization Plan for approval to the Business Administrator or his legal representative in advance of any such engagement of subcontractors. Additionally, I certify that in engaging subcontractors, I will make a good faith effort to achieve the subcontracting set-aside goals established for this contract, and I will attach to the plan documentation of such efforts.

Respectfully submitted by:



Brian M. Cooper, PE

Name, typed or printed

Manager of Engineering

Title

Earle Asphalt Company

Name of Firm

P.O. Box 556, Farmingdale, NJ 07727

Business Address/Zip

(732) 308-1113

Telephone

(732) 308-1034

Fax

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID**

(MANDATORY IF APPLICABLE)

NAME LC Equipment, Inc.
ADDRESS 394 Route 49, PO Box 595, Tuckahoe, NJ 08250
CITY, STATE, ZIP Tuckahoe, NJ 08250
TELEPHONE: (609) 628-1800
FAX NO. (609) 628-1987
TRADE Signs
LICENSE NO. N/A

NAME Straight Edge Striping
ADDRESS 201 Wilton Avenue
CITY, STATE, ZIP Middlesex, NJ 08846
TELEPHONE: (732) 302-3001
FAX NO. (732) 469-4812
TRADE Striping
LICENSE NO. N/A

NAME Clean Earth Matters LLC
ADDRESS 208 Brunswick Avenue
CITY, STATE, ZIP Trenton, NJ 08618
TELEPHONE: (732) 803-9559
FAX NO. (908) 502-0312
TRADE Tree Removal (Home Improvement Contractors)
LICENSE NO. 13WH09398000

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Black Rock Enterprises

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

BASE BID

<u>ITEM #</u>	<u>BRIEF DESCRIPTION OF ITEM & PRICE IN WORDS AND FIGURES</u>	<u>TOTAL PRICE</u>
1	Mobilization Lump Sum @ \$ 298,000.00 <u>Two hundred ninety eight Thousand Dollars</u> (Write out unit price)	<u>\$ 298,000.00</u>
2	Clearing Site Lump Sum @ \$ 55,000.00 <u>Fifty five Thousand Dollars</u> (Write out unit price)	<u>55,000.00</u>
3	Project Video Lump Sum @ \$ 2,500.00 <u>Two Thousand Five Hundred Dollars</u> (Write out unit price)	<u>2,500.00</u>
4	Uniform Traffic Director 75 HOURS @ \$ 100.00 per HOUR <u>one Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
5	Certified Traffic Flagger 350 HOURS @ \$ 115.00 per HOUR <u>one hundred Fifteen Dollars</u> (Write out unit price)	<u>40,250.00</u>
6	Traffic Control, Complete – Franklin Street 1 Lump Sum @ \$ 7,500.00 <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
7	Traffic Control, Complete – Washington Street 1 Lump Sum @ \$ 7,500.00 <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
8	Traffic Control, Complete – Second Street 1 Lump Sum @ \$ 7,500.00 <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

9	Traffic Control, Complete –Culbertson Street 1 Lump Sum @ \$ <u>7,500.00</u> <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
10	Traffic Control, Complete – Gladstone Avenue 1 Lump Sum @ \$ <u>7,500.00</u> <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
11	Traffic Control, Complete –Vine Street 1 Lump Sum @ \$ <u>7,500.00</u> <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
12	Traffic Control, Complete –Pine Street 1 Lump Sum @ \$ <u>7,500.00</u> <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
13	Traffic Control, Complete – North Hermitage Avenue 1 Lump Sum @ \$ <u>7,500.00</u> <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
14	Traffic Control, Complete – Bellevue Avenue 1 Lump Sum @ \$ <u>7,500.00</u> <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
15	Traffic Control, Complete – Frazier Street 1 Lump Sum @ \$ <u>7,500.00</u> <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
16	Traffic Control, Complete – Spring Street 1 Lump Sum @ \$ <u>7,500.00</u> <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
17	Traffic Control, Complete – Montgomery Place 1 Lump Sum @ \$ <u>7,500.00</u> <u>Seven Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
18	Tree Removal, Over 18" to 24" Diameter 5 UNITS @ \$ <u>2,500.00</u> per UNIT <u>Two Thousand Five Hundred Dollars</u> (Write out unit price)	<u>12,500.00</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

19	Tree Removal, Over 24" to 30" Diameter 5 UNITS @ \$3,200.00 per UNIT <u>Three Thousand Two Hundred Dollars</u> (Write out unit price)	<u>16,000.00</u>
20	Tree Removal, Over 30" to 36" Diameter 5 UNITS @ \$5,000.00 per UNIT <u>Five Thousand Dollars</u> (Write out unit price)	<u>25,000.00</u>
21	Inlet Filter, Type 2 89 UNITS @ \$200.00 per UNIT <u>Two Hundred Dollars</u> (Write out unit price)	<u>17,800.00</u>
22	Excavation, Test Hole, If & Where Directed 200 CY @ \$1.00 per CY <u>One Dollar</u> (Write out unit price)	<u>200.00</u>
23	Reset Manhole Casting, If & Where Directed 40 UNITS @ \$385.00 per UNIT <u>Three Hundred Eighty Five Dollars</u> (Write out unit price)	<u>15,400.00</u>
24	Inlet Repair, If & Where Directed 40 UNITS @ \$1,500.00 per UNIT <u>One Thousand Five Hundred Dollars</u> (Write out unit price)	<u>60,000.00</u>
25	Inlet Concrete Modification 15 UNITS @ \$3,800.00 per UNIT <u>Three Thousand Eight Hundred Dollars</u> (Write out unit price)	<u>57,000.00</u>
26	Bicycle Safe Frame and Grate, Type A 4 UNITS @ \$1,200.00 per UNIT <u>One Thousand Two Hundred Dollars</u> (Write out unit price)	<u>4,800.00</u>
27	Bicycle Safe Frame and Grate, Type B 62 UNITS @ \$1,000.00 per UNIT <u>One Thousand Dollars</u> (Write out unit price)	<u>62,000.00</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

28	Bicycle Safe Frame and Grate, Type E 5 UNITS @ \$ 1,500.00 per UNIT <u>one Thousand Five Hundred Dollars</u> (Write out unit price)	<u>7,500.00</u>
29	Precast Inlet, Type B, If & Where Directed 3 UNITS @ \$ 4,500.00 per UNIT <u>Four Thousand Five Hundred Dollars</u> (Write out unit price)	<u>13,500.00</u>
30	4" Type 'N' Eco Curb Piece 2 UNITS @ \$ 350.00 per UNIT <u>Three Hundred Fifty Dollars</u> (Write out unit price)	<u>700.00</u>
31	6" Type 'N' Eco Curb Piece 9 UNITS @ \$ 385.00 per UNIT <u>Three Hundred Eighty Five Dollars</u> (Write out unit price)	<u>3,465.00</u>
32	8" Type 'N' Eco Curb Piece 38 UNITS @ \$ 450.00 per UNIT <u>Four Hundred Fifty Dollars</u> (Write out unit price)	<u>17,100.00</u>
33	10" Type 'N' Eco Curb Piece 27 UNITS @ \$ 500.00 per UNIT <u>Five Hundred Dollars</u> (Write out unit price)	<u>13,500.00</u>
34	Aluminum Rail 40 LF @ \$ 375.00 per LF <u>Three Hundred Seventy Five Dollars</u> (Write out unit price)	<u>15,000.00</u>
35	15" HDPE Storm Pipe, If & Where Directed 100 LF @ \$ 85.00 per LF <u>Eighty Five Dollars</u> (Write out unit price)	<u>8,500.00</u>
36	Concrete Sidewalk, 4" Thick 3,446 SY @ \$ 118.00 per SY <u>One Hundred Eighteen Dollars</u> (Write out unit price)	<u>406,628.00</u>
37	Reinforced Concrete Sidewalk, 6" Thick 310 SY @ \$ 135.00 per SY <u>One Hundred Thirty Five Dollars</u> (Write out unit price)	<u>41,850.00</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

38	Detectable Warning Surface 172 SY @ \$ 500.00 per SY <u>Five Hundred Dollars</u> (Write out unit price)	<u>86,000.00</u>
39	Brick Paver Curb 200 LF @ \$ 65.00 per LF <u>Sixty Five Dollars</u> (Write out unit price)	<u>13,000.00</u>
40	Concrete Gutter 250 LF @ \$ 65.00 per LF <u>Sixty Five Dollars</u> (Write out unit price)	<u>16,250.00</u>
41	Steel Curb Plate, 10', If & Where Directed 10 UNITS @ \$ 1,000.00 per UNIT <u>one Thousand Dollars</u> (Write out unit price)	<u>10,000.00</u>
42	6"x8"x18" Concrete Vertical Curb 7,566 LF @ \$ 45.00 per LF <u>Forty Five Dollars</u> (Write out unit price)	<u>340,720.00</u>
43	HMA Milling, 3" or Less 59,889 SY @ \$ 4.35 per SY <u>Four Dollars and Thirty Five cents</u> (Write out unit price)	<u>260,517.15</u>
44	HMA Milling, More Than 3" to 6" 5,370 SY @ \$ 5.00 per SY <u>Five Dollars</u> (Write out unit price)	<u>26,850.00</u>
45	Hot Mix Asphalt 9.5M64 Surface Course, 2" Thick 7,518 TON @ \$ 97.00 per TON <u>Ninety Seven Dollars</u> (Write out unit price)	<u>729,246.00</u>
46	Hot Mix Asphalt 9.5M64 Leveling Course, Variable Thickness 892 TON @ \$ 97.00 per TON <u>Ninety Seven Dollars</u> (Write out unit price)	<u>86,524.00</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

47	Hot Mix Asphalt 19M64 Base Course, 4" Thick 1,515 TON @ \$ 92.60 per TON <u>Ninety two Dollars</u> (Write out unit price)	<u>139,380.00</u>
48	Tack Coat 6,537 GAL @ \$ 4.00 per GAL <u>Four Dollars</u> (Write out unit price)	<u>26,148.00</u>
49	HMA Pavement Repair 10,490 SY @ \$ 1.00 per SY <u>one Dollar</u> (Write out unit price)	<u>10,490.00</u>
50	Dense Graded Aggregate, If & Where Directed 100 CY @ \$ 1.00 per CY <u>One Dollar</u> (Write out unit price)	<u>100.00</u>
51	1 1/2" Clean Stone, If & Where Directed 100 CY @ \$ 1.00 per CY <u>One Dollar</u> (Write out unit price)	<u>100.00</u>
52	Select Fill, If & Where Directed 100 CY @ \$ 1.00 per CY <u>One Dollar</u> (Write out unit price)	<u>100.00</u>
53	Regulatory Sign, R1-1 'Stop', 30"x30" 26 UNITS @ \$ 291.50 per UNIT <u>Two Hundred ninety one Dollars and</u> (Write out unit price) <u>Fifty cents</u>	<u>7,579.00</u>
54	Regulatory Sign, R1-5 'Yield', 36"x36" 1 UNIT @ \$ 302.50 per UNIT <u>Three Hundred Two Dollars and Fifty</u> (Write out unit price) <u>Cents</u>	<u>302.50</u>
55	Regulatory Sign, R5-1 'Do Not Enter', 30"x30" 3 UNITS @ \$ 291.50 per UNIT <u>Two Hundred Ninety one Dollars and</u> (Write out unit price) <u>Fifty cents</u>	<u>874.50</u>
56	Regulatory Sign, R6-1 'One Way', 36"x12" 3 UNITS @ \$ 210.00 per UNIT <u>Two Hundred Twenty Dollars</u> (Write out unit price)	<u>630.00</u>

(HD)

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

57 <i>(AD)</i>	Regulatory Sign, R7-5 '15 Minute Parking', 24"x30" 2 UNITS @ \$ 258.50 per UNIT <u>Two hundred Fifty eight Dollars and Fifty cents</u> (Write out unit price)	<u>517.00</u>
58 <i>(AD)</i>	Warning Sign, W11-2 'Pedestrian Crossing', 36"x36" 1 UNIT @ \$ 335.50 per UNIT <u>Three hundred thirty Five Dollars and Fifty cents</u> (Write out unit price)	<u>335.50</u>
59 <i>(AD)</i>	Street Sign 14 UNITS @ \$ 40.00 per UNIT <u>Four Hundred Forty Dollars</u> (Write out unit price)	<u>6,160.00</u>
60	Traffic Marking, 24" Wide White 1,550 LF @ \$ 4.95 per LF <u>Four dollars and ninety Five cents</u> (Write out unit price)	<u>7,672.50</u>
61	Traffic Marking, 8" Wide White 6,400 LF @ \$ 1.65 per LF <u>one Dollar and Sixty Five cents</u> (Write out unit price)	<u>10,560.00</u>
62	Traffic Marking, 4" Wide Yellow 1,760 LF @ \$.83 per LF <u>eighty Three cents</u> (Write out unit price)	<u>1,460.80</u>
63	Traffic Marking, White 'Yield' 21 UNITS @ \$ 39.60 per UNIT <u>Thirty nine Dollars and Sixty cents</u> (Write out unit price)	<u>831.60</u>
64	Traffic Marking, Turn Arrow 2 UNITS @ \$ 192.50 per UNIT <u>one Hundred ninety Two Dollars and Fifty cents</u> (Write out unit price)	<u>385.00</u>
65	Traffic Marking, 'ONLY' 2 UNITS @ \$ 220.00 per UNIT <u>Two Hundred twenty Dollars</u> (Write out unit price)	<u>440.00</u>

PROPOSAL (Continued)
ESTIMATE OF QUANTITIES
FY2022 ROADWAY IMPROVEMENTS PROJECT
February 2023

66	Fertilizing and Seeding, Type A-3 <u>1,745 SY @ \$ 1.00 per SY</u> <u>One Dollar</u> <small>(Write out unit price)</small>	<u>1,745.00</u>
67	Topsoiling, 5" Thick <u>1,745 SY @ \$ 6.00 per SY</u> <u>Six Dollars</u> <small>(Write out unit price)</small>	<u>10,470.00</u>
68	Fuel Price Adjustment <u>Lump Sum @ \$12,000.00</u> <u>Twelve Thousand Dollars and Zero Cents</u> <small>(Write out unit price)</small>	<u>\$12,000.00</u>
69	Asphalt Price Adjustment <u>Lump Sum @ \$20,000.00</u> <u>Twenty Thousand Dollars and Zero Cents</u> <small>(Write out unit price)</small>	<u>\$20,000.00</u>
70	Allowance <u>Lump Sum @ \$50,000.00</u> <u>Fifty Thousand Dollars and Zero Cents</u> <small>(Write out unit price)</small>	<u>\$50,000.00</u>

TOTAL AMOUNT BID \$3,168,861.55

FY2022 ROADWAY IMPROVEMENTS PROJECT

Item Nos. 1 through 70:

Three million one hundred sixty eight Thousand

Eight Hundred sixty one Dollars and fifty five Cents

**NOTICE OF INTENT TO SUBCONTRACT FORM
(MANDATORY)**

This notice of intent must be completed and included as part of each bidder's proposal. Failure to submit this form will be cause for rejection of the bid as non-responsive.

Please check one of the below-listed boxes:

If awarded this contract, I will engage subcontractors to provide certain goods and/or services.

ALL BIDDERS THAT INTEND TO ENGAGE SUBCONTRACTORS MUST ALSO SUBMIT A COMPLETED AND CERTIFIED SUBCONTRACTOR UTILIZATION PLAN WITH THEIR BID PROPOSALS. BIDDERS SHOULD ALSO SUBMIT A NEW JERSEY BUSINESS REGISTRATION CERTIFICATE FOR EACH SUBCONTRACTOR AS WELL AS ANY LICENSES HELD BY SUBCONTRACTORS WITH THEIR BID PROPOSAL.

If awarded this contract, I do not intend to engage subcontractors to provide any goods and/or services.

ALL BIDDERS THAT DO NOT INTEND TO ENGAGE SUBCONTRACTORS MUST ATTEST TO THE FOLLOWING CERTIFICATION:

I hereby certify that if the award is granted to my firm and if I determine at any time during the course of the contract to engage subcontractors to provide certain goods and/or services, I will submit the Subcontractor Utilization Plan for approval to the Business Administrator or his legal representative in advance of any such engagement of subcontractors. Additionally, I certify that in engaging subcontractors, I will make a good faith effort to achieve the subcontracting set-aside goals established for this contract, and I will attach to the plan documentation of such efforts.

Respectfully submitted by:

Jacqueline Hale
Signature

Jacqueline Hale
Name, typed or printed

Managing member
Title

(Seal—if bid is by a corporation)

Black Rock Enterprises, LLC

Name of Firm

1316 Englishtown Road
Old Bridge, NJ 08857

Business Address/Zip

731-967-6400

Telephone

731-967-0102

Fax

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE)

NAME Straight Edge Stripping
ADDRESS 201 Cutlery Avenue
CITY, STATE, ZIP Middlesex NJ 08844
TELEPHONE: 732-302-3000
FAX NO. 732-302-3022
TRADE STRIPPING
LICENSE NO. Corporate information attached

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____